=

201622 F U183 X 40 A A X B
Aot % B H=(cm) (A=
1 i SEM 65XXXX31| 170 1,2
5 GBS 67XXXX06 | 168 4
3 2355 60XXXX97 | 178 5
4 =G 6LXXXX07 | 170 1,3
5 SRS BOXXXX19 | 172 2,3
5 S 94XXXX45 | 166.6 SG
- = B 66XXXX25 | 158 PG
g BELLIE 96XXXX05 | 166 SF/PF
9 BT 93XXXX86 | 163 3,4
10 R 97XXXX00 | 168 3
11 R 60XXXX03| 178 5
19 B F1HE, 54XXXX86 | 179.5 5
13 ) S B 5IXXXX62 | 168 3
14 B 96XXXX98 | 173 4
15 G 97XXXX32| 165 2,3
16 BE s 68XXXX23 | 163 1,2,3
17 S S 53XXXX11| 165 4,5
18 PEEEE 56XXXX96 | 163 1,2,3
19 = 53XXXX20 | 160 1,2
20 Bk 52XXXX20 | 163 1,2




=

201622+ U183 X 40 N AN

Ao 2 iR Hr=(cm) fir e
21 e 8 51IXXXX28 170 2
29 SRR 98XXXX68 165 SG
23 R A 92XXXX85 160 SG
24 TR BOXXXX78 179 CIPF
o5 e BAXXXX99 165 SG
26 FRRES 90XXXX33 175 CIPF
27 EE BAXXXX45 175 C/PE
o8 LS 95XXXX04 167 PG
29 A SCHE 56XXXX92 179 C/PE
30 GRS BIXXXX41 175 SG/SF
31 BhYLEE B6XXXX05 166 SG
32 TG 53XXXX62 | 165 PG/SG
33 TR 97XXXX88 168 PG/SG
34 B IKES 53XXXX75 162 1,2
35 TR 51XXXX09 162 2
36 2IE BIXXXX09 164 2,3
37 ek 5 2 97XXXX53 180 45
38 FEE 97XXXX39 166 2,3
39 5T 53XXXX12 173
40 24 92XXXX52 163




